Z:\Clients\BMI\A - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

BMI

"BMI Frame"
Continuous Head & Sill System

(Utilizing Composite Components)
INSWING / OUTSWING

"NON-IMPACT"
GENERAL NOTES

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building Code

(FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base material

shall be beyond wall dressing or stucco.

. When used in areas requiring wind borne deburis protection, this product is required fo be protected with
an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2.

. This "NON-IMPACT" door jamb & mullion, as components, are to be used in combination as a substitute
for a similar door jamb & mullion in a non-impact approved door system possessing a current Florida
Statewide Product Approval (excluding the "HVHZ").

5. The design pressure of the assembly shall be the lesser of the design pressure for the door assembly

shown in this approval or the design pressure of the door assembly used in conjunction with this approval.

. The maximum frame size of the door assembly shall be lesser of the maximum frame size stated in this
approval or the maximum frame size of the door assembly approval used in conjunction with this
approval.

7. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x buck masonry

construction.

8. Site conditions that deviate from the details of this drawing require further engineering analysis by a

licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes 6 Horizontal Cross Sections
2 Elevations 7 Vertical Cross Sections (Thresholds)
3 Horizontal & Vertical Cross Sections (2X Buck) 8 2X Buck Anchoring
4 Horizontal & Vertical Cross Sections (1X Buck) 9 Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections (Dir. fo Masonry) 10 Bill of Materials & Components

\\\\\\“‘:'%, 'l’//
\ /,
& e /y//,
ok -~ QY B
Q- " f&’ @
~ N . n
S5y 8, BELESR
= I:. D & 1<=Z
:0:% o ESZZen,
:m‘.‘a Zo E".o:(ﬁ L=y
- v, oS =2828
-, .. CoS <2
2,2t S G358 g
2, \ I S D> 52
,I/ Pap\\ (] -1’2
2N Qo
& oW - B
Nlv B O x29
|2 E Z QK
5§ to b o
J§58 3, 5w
b lEvm 3%cm
& oY Boow
BMI Frame BMI Frame PRI
° . g 0 -
Mullion Head & Side Jamb TN
w
35
2>
<g
2| =&
<9, 23
SSI|H <©
g2 s
O |w LL.IU)
g uw
< <X
P el €3
S ol £»
8l |gtE
e -
& X
>
om
[72]
P
O
%
o
o
L)
[ DESIGN PRESSURE (PSF) | =
NG :
(@)
—_—— DATE: 7/05/22
OX, X0 53.0"x 81.5" +60.0 -65.0 scAE:  N.T.S.
DWG. BY: LFS
OXO0 68.5"x81.5" | +60.0 | -65.0 | +60.0 [ -60.0 GHG B RW
DRAWING NO.:
FL—41560.2

SHEET _1 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



FON SANVATINSNGOG 9aMNaiing "My 2202 @

£186 "ON Ausibey 3484 SNOISIAZY
L616°659°CL8 FON ®uoyd Ag 31vd [ONloy N o
S6SEE 14 ‘OSMIDA ‘0E£Z Xo8 °O'd \Su SNOWLYA 13 NI e AR 1_
o_ﬂ _Mm._.z«.._.._:mzoo oNIaiNg @, ATBINASSY ¥0 Lavd 9 M = LB |5
\ n =R
/5— 1 Z ~ oy
2 N0/, s0veH ON “Fd SIN3NOWOD N, 8|82 |
ARy S, IPIULDS "4 uopUA] INg SulD|BE g
//W/..&OEO@. Z EMGKWFm
> J03uvis > iAg peJodedd sjuswnoog -L0NQodd SI818135 m ]
.

2L p

BOYEY ON  § &
o o™~
&w.wczm%ooty lo,,hl
Svenes Ty O
\sé\ WHO'S W,,zz/
i

Y
.
»

ELEVATION
) (@

N\ N\

v

/
o)
1
N6 /
J
NOTE

LOCK HARDWARE, HINGE & THRESHOLD CONNECTIONS.

SEE SEPARATE SIDE-HINGED DOOR & SIDELITE
FLORIDA PRODUCT APPROVAL FOR DOOR & SIDELITE
CONSTRUCTION DETAILS NOT SHOWN, INCLUDING

T | T WD

ELEVATION
XO / OX

X
q
N D\

NI AYAPANY,

JOVWI QIJOAAIW
| <] o
76D
Ml O e \.
— 3w [a)
oQz
o~ i el
~ >1>< 04
> Av =g
4 1P

BMP'Z'095 LY-14\0202) 095 LY TH\sBuimelq - D\09S Ly-14\s{eroiddy 1onpold BpLold - VAIWE\SIUBID\Z



ZA\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

\\

INTERIOR

0.15" C-SINK
(TYP)

/1" VERTICAL CROSS SECTION

\y Outswing shown {Inswing similar)

5

INTERIOR

>

EXTERIOR

/"3 "\ HORIZONTAL CROSS SECTION

\3] Outswing shown (Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

1-1/4" MIN.
EMSB. (TYP.)

EXTERIOR

AL AL S

z
=
X
-~
'

EMB. {TYP.)

e

A\

INTERIOR

72>\ VERTICAL CROSS SECTION

w Outswing shown {Inswing similar)

INTERIOR

O—_
@

A

@ EXTERIOR @

7”4\ HORIZONTAL CROSS SECTION

w Outswing shown {Inswing similar)

FIELEFITLIETFEI L7

TR

m HORIZONTAL CROSS SECTION

\y Outswing shown {inswing similar)

1-1/4" MIN.
EMB. (TYP.)

P.0. Box 230, Valrico, FL 33585
Phone No.: 813.659.9187

BUILDING CONSULTANTS, INC.
FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

BMI
COMPONENTS

HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ{ DATE

DATE: 7/05/22

SCALE:  N.T.S,

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
FL—-41560.2

SHEET 3 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR x/ INTERIOR

W
71"\ VERTICAL CROSS SECTION

\U Outswing shown (Inswing similar)

/"3 "\ HORIZONTAL CROSS SECTION
\4/ Outswing shown (Inswing similar)

INTERIOR

EXTERIOR

1-174" MIN,
EMB. (TYP.)

EXTERIOR /\/ INTERIOR

A\

/"2 VERTICAL CROSS SECTION
W Outswing shown (Inswing similar)

INTERIOR

@
| : \

A\
7

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

BMI
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

NOJ DATE

REVISIONS

@ 1-1/4" MIN.
1-1/4" MIN. EMB. (TYP.)
EMB. (TYP.)

7”4\ HORIZONTAL CROSS SECTION /"5 "\ HORIZONTAL CROSS SECTION

DATE: 7/05/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

w Outswing shown (inswing similar) W Qutswing shown (Inswing similar)

DRAWING NO.:
FL-41560.2

SHEET _4 oF 10

© 2022 R.W., BUILDING CONSULTANTS INC.




(101
\\\\\\ i ,’I

N x %,

‘\\\"\ ....... N 4//,16 0
£ -
. —om
_ o &= Lom
s AN ¥ LOSP 555
: a< e 4 TOI 2000
o : - 2 s S OS £ Eu
: 3 o ' S 8¢
S g o, s OO I
. 1 , ' ge2l
= ON -+ 0
\@ B o gzo o
Ea g Q om
ra Zo 59 2568
Zg =z "% Bodh
=E I - .
® s 12 TR
.\ TE - Eui g
. Ja.
/ x/ 2%
EXTERIOR INTERIOR EXTERIOR INTERIOR g3
W A\ %
=
<
S
N VERTICAL CROSS SECTION "2\ VERTICAL CROSS SECTION 21 g°
W utswing shown (Inswing similar) \yOu‘rswing shown {Inswing similar) o
R |E sz
S a2
S 92 %m
5 xl 95
3 ol 6
& % &
SaN _ o o
.4 g vd‘ .Ad é’v v >

(73]
pid
O
12}
INTERIOR INTERIOR &l
S | O_
EXTERIOR T~ (50)  exemoR ) z
@ 1-1/4" MIN, A 7,/05/22
1-1/4" MIN, EMB. (TYP.) scae  N.T.S
1-1/4" MIN. EMB. (TYP.) TS,
EMB. (TYP.) | DWe. 8. LFS
‘ " CHK. BY: RW
/"3 "\ HORIZONTAL CROSS SECTION /~4"\ HORIZONTAL CROSS SECTION 7”5 \ HORIZONTAL CROSS SECTION BRANIG 0.
\_5_/ Oulswing shown {Inswing similar] \5_/ Outswing shown {Inswing similar) \5_/ Ovutswing shown (Inswing similar) FL-41560.2

SHEET _ 5 oF 10

Z\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

© 2022 R.W. BuiLDING CONSULTANTS INC.



CONY BANVLAINSNODG SNIgTHNg MY 2202 @

£186 'ON Ansibey 3Idad SNOLLOIS SNOISIAZY
LB16°6S9°CL8 "ON euoyd A 31va TON] oy ~ o
Sesse 14 “eoion oz o8 04 ] SSOHO TYINOZIMOH Qlalelzl S 9
"ONI "SINVLINSNOD ONIGTiNg \% ATENISSY 0 Ldvd Q m -~ " 8|8

0 A
80+t "ON ‘3I'd SININOLWOD V Bl E M Aw. 6_
IPIWIYDS "4 UOPUAT INg i M 61y E &
"~ iAg peiodeld sjusuinoog -LONG0¥d R W &
= %

SEENOTE |

m HORIZONTAL CROSS SECTION
\U Inswing shown (Outswing similar)

INTERIOR
9

EXTERIOR

/]

12

m HORIZONTAL CROSS SECTION
W Inswing shown {Outswing similar)

&

[/4

1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion {4 fotal}.

NOTES:

BmpZ'095 LY-14\0202) 095 LY 1d\sBuimelq - D\09S5 Ly-T4\s|erosddy 1onpold epuojd - YAINE\SIUSIDNZ



TON| SLNVATINSNDGG NIGTIN"E *M'H" 2202 @

EXTERIOR

EXTERIOR

('dAL) "aw3
"NIW /L1

\\

.

INTERIOR

®

('dAL) "gwW3
NIW ¥/ 11

/1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

€186 'ON Ansibey 3dgd SNOISIATYH
L616'6G9'CLB "ON euoyd Amcq%%%%w&:&om%»omm Ag 31v0 [ONj ey N O_
GBSEE 14 'OdUIPA ‘0€Z Xo8 ‘O'd § N2 £ W Q™
wﬁ _vm.rzﬁ._:wzoo ONIgINg g« ‘ATEWASSY 80 Ldvd W .M = . 9|8
W :\\ g < N
,,,%rv WNO/s %, SovEb “ON ‘3'd SININOJWOO NREGEN |
DO yaiioy; Y7, puuss 4 uopusq Ing i m ol z rll lir
N :10NA0Yd HEHEHES &
=
o
3]
. 4
O Qo
& Qe
z o8
~iE
<
J|2
S
wis
“ >0
h &
; -
o o
O O
: : ®
s 5
Al o ('dAL) ‘aw3
oz
= —ls
Z e
oy
o\ o
[
>0
-
oS

EXTERIOR

/"3 VERTICAL CROSS SECTION.

/\:Y
\\7/ inswing Threshold

INTERIOR

{'dAL) 'gW3
"NIW b/ 171

Bmp2'095L7-14\(0202) 095 LY T4\sBumesq - D\09S L y-1d\sferoiddy 3onpoid epliold - v\ing\siuatd\iz



‘ON| SANVLINSNOD aNiaiing "'m's 2202 Q)

£186 'OoN Ansibey 3484 0X0 ‘0/X X/0) SNOISIATY
L616°6G9'CL8 "ON euoyd ONIMOHONY Morig xz A 31vd [ON}tey ™~ 0_
GBGEE 714 ‘ODHIDA ‘OCT X088 °'O'd \h\w N ) £ W =
o_ﬂ ..w»zﬁ.szoo ONIaINg @y ATEWISSY MO 1dvd Q _M = . 0|9
\ 11 o ™
/15 1/ Z2 < |m
///Mamw J.(...mo\m.%\\\ 60¥SF "ON 'Id SININOJWO0I N slE|g | _
//umv ....o.oiomv.... \\\ PIUYDS 4 uopuin INg @ w 6|y w T|f
S doauvis @\‘\\&m peJodeld sjueunosoq 110NA0Hd S|81515]8 &
=3 ST,
ez ‘7S P

{dAL) XYW

— T (dAl) "5'0.91
e

T —

o
(TYP.)
I

2 [TYP.)
OXO

=4 (TYP)

HEAD & JAMBS
(TYP.)

JAMBS

2X BUCK ANCHORING

(dAL) "XVYW

e (dAl) ‘0.9l
= 7
=

X0, OX

17
J=a} .
D) = -
n.A MM M.nll wg.
) of .
Y m( \
_.., T .\.......
T 1 | I Ll
2 ey - - - - " —
v .- - *y Rt SRR | . o
I A R
—_ - % E2Y 11 sl . IVH\
= Q. o
~¥ (V2 b
E O~ O
2 %
xE 3

Bmp z:095Ly-14\0202) 095 L1 1d\sBuimelq - D\096 L #-14\sjerolddy 1onpoid epuiold - VAINE\SIUSID\Z



ZA\Clients\BMIA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

INTEGRAL MULLION ATTACHED 1O HEAD

* 1 10
: MULLION =2 3.5" X 4" 20 GA. STEEL PLATE ATTACHED TO
MULLION 35& ;“C’é%‘ﬁ;‘,f, FHHCOMPOSITE ox BACK OF LOCK JAMB w/ (4) 1" CROWN X
& (1YP) 4" (TYP)) - 'g 4" (TYP) . g ; 5 5/8" LONG 16 GA. STAPLES
‘ 4" (TYP.) ——1 r 4" (TYP.) —»‘ r =5
FI[rr_ Tt FI[IT_ | T] il f
? N f L .
A =
2X BUCK =<
- - - 2X BUCK - SEE HINGE ok
1X BUCK DETAIL i &
1X BUCK (TYP.) fh RO
HEAD & JAMBS HERD & JAMES L % w3
- i1 — - <t
(TYP.) oy | ~d L
T F3 Bg
I — — Q=
GE outswinG (D) GE SF
— — g % INSWING o — —_ g = ©
FRAME SOORSILL - = SIDELITE SILL - l | SEE LATCH &
ve) == P _ (TYP.) Al | Do(g,'f,jlu' - R DEAD&(E)TI;TI LSTRIKE
INSWING
X0, OX STE SiL OX0 HINGE JAMB/MULLION  STRIKE JAMB/MULLION
(TYP.)
FRAME CORNERS ATTACHED w/ (3) 7/1¢"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2} FRAME ANCHOR’NG
#7 X 2" DRYWALL SCREWS @ HEAD & SILL {TYP.)
\
DIRECTTO DIRECTTO @
MASONRY MASONRY P E
W 1X BUCK 3 1X BUCK 2X BUCK @ ]
v T ok— 2XBUCK o O o— 2X BUCK 1X BUCK N
® { 2 ’
H [~ =y | N DIRECTTO U
{ ] [ 4 ® [ 2. iy
o [Hie 11 o Hleo 11 MASONRY
a =) \‘\E() —(12)
\ \
A \
HINGE DETAIL HINGE DETAIL LATCH & DEADBOLT DETAIL
INSWING OUTSWING
HARDWARE DETAILS

n
(o]
0
)
g™
z
£ N
oM
o
£ g2k
‘—m
Sty .,
4 0w o
D>z
%d"b
; 52%3
& §B
v T 032&’
gEm ng
8 €o 9 .cuw
P g% 5028
L T¢ Doakl
L o,
c []
9 co g
S
g sH
a 2o %g
]
2=
" el
= (oY=
<2 |5y O
38 |g =2
= |8 wd
IS) S
)]
(&) g <:<IE:
o
£ ol
o
2 o
el |k
0. s
>_
m
%)
b
O
2]
ol
o
N
<C
o
o
z
DATE: 7/05/22
SCALE:  N,T.S.
Dwe. B:  LFS
CHK. BY: RW
DRAWING NO.:
FL—-41560.2

sHEET @ oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



Z\Clients\BMIMA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.2.dwg

BiLL OF MATERIALS

DOOR PANEL (BY OTHERS - SEE GENERAL NOTE 4, SHEET 1)

SIDELITE PANEL {BY OTHERS - SEE GENERAL NOTE 4, SHEET 1)

ITEM # | DESCRIPTION MATERIAL

A | IXBUCK {SG >=0.42) WOOD

B | 2XBUCK (SG >=0.42) WOOD
C | 1/4" MAX. SHIM SPACE -

D | 1/4"X2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

J | 1/4" X 3-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL

L | #10X2-1/2" PFH WOOD SCREW {1.15" MIN. EMBEDMENT) STEEL

M ]3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

N | 3/16"X2-1/4" PFH ITW CONCRETE SCREW STEEL

P |1/4"X2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

1 | HEAD & SIDE JAMB (BMI WPC) COMPOSITE
3 | MULLION (BMIWPC]) COMPOSITE
7 | WEATHERSIRIP FOAM

9 |4 X4'HINGE STEEL

11 | #9 X 3/4" PFH WOOD SCREW STEEL

12 | LATCH STRIKE PLATE STEEL

13 | DEADBOLT STRIKE PLATE STEEL

14 | INSWING THRESHOLD ALUM/COMP
15 | OUTSWING THRESHOLD ALUM/COMP
17 | INSWING SIDELITE ADAPTER PVC

18 | #8 X 3"SD TRIM SCREW STEEL
25 | #8X2-1/2' PFH WOOD SCREW STEEL
40
50

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

™w -

TAPCON® | 3/16° 1-1/4" 3 1-1/2
ITW " " " "
tapcoN® | 1/ 1-1/ 2 4
DeWALT - N . ;
utrRAcond] 174 1-1/4 ! 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitiing of wood.

i 4.56" ‘

0.75" ——4--»!

l 237

1.25"

1 WOOD PLASTIC COMPOSITE JAMB
BMI

0.5 —= et —

4.5¢"

..;:i :. }:' . 0.236"
ff; > LVL INSERTS w/

COMPOSITE FILLER
{1.75" @ HEAD &
4"+ NOTCH @ SILL)

3 WOOD PLASTIC COMPOSITE MULLION

BMI

1.44"

5.62" |

17 INSWING SIDELITE SPACER
Columbia

244

~1.38" =]

7

14 INSWING THRESHOLD
Columbia

L'*— 0.65"

—

4.6"

15 OUTSWING THRESHOLD

Columbia

0
[o;]
)
]
oM
z
£ N
‘(Q.&mn
.c"-
2358
S
1 0® o
ik
ZOowo
. §Roe
& ON - 0
“ o O
v T 0320
EEa) Zm”m
R-go 9 .Gl
2an 50284
LY Dok
2 n
c [+]
§ cz S
S
s Su
8 2 e%
]
n | £
ity
5| 53
25 |3 =T
o mh_E
= Eoo
o | PO
O |9
2 =2
5 gl ©
2 o
S E
& x
>_
o
)
b
O
%]
ol
o
o
<
o
o
=
oaE: 7,/05/22
scale:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
FlL—-41560.2

sheer 10 ofF 10

© 2022 R.W. BUILDING CONSULTANTS ING.



